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LIFE SCIENCE 

LSE-02 : ECOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory. Attempt any four 
questions from Q. no. 2 to 6. 

1. 	(a) Define the following terms : 	 5 

(i) Aggregation 

(ii) Benthos 

(iii) Niche 

(iv) Homeostasis 

(v) Littoral zone 

(b) Fill in the blanks : 	 3 

(i) 	 is the study of 

relationship of living organisms to one 

another and to their environment. 

(ii) 	 is a special form of 

predation in which the predator and 

prey belong to the same species. 

(iii) The forests may be evergreen or 
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(c) State whether the given statements are 	2 

true or false : 
(i) Sunlight is a major limiting factor in 

an aquatic ecosystem. 

(ii) The main reservoir of nitrogen in the 
biosphere is ocean. 

(iii) The estuaries do not support large 
organisms. 

(iv) A dominant species can be eliminated 
if environmental conditions change. 

	

2. 	Differentiate between any four of the following : 10 

(a) Natural and artificial ecosystem 

(b) Autogenic and allogenic succession 

(c) Tropical rain forest and temperate rain forest 

(d) Bioaccumulation and Biomagnification 

(e) Food chain and food web 

	

3. 	Answer the following : 	 10 

(a) What do you understand by cation 
exchange capacity of soil ? 

(b) Describe briefly how carbon and sulphur 
cycles are affected by human activities. 

	

4. 	(a) List the three patterns of population 	3 

distribution. 

(b) Discuss why infant mortality rate is an 	3 
important demographic indicator. 

(c) Explain why pyramid of energy can never 	4 

assume an inverted shape. 
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5. 	Write short notes on any four of the following : 

(a) Nudation 

(b) Defence mechanism in plants 

(c) Biogeochemical cycle 

(d) Water logging 

(e) Keystone species 

	

6. 	(a) Write the economic importance of grassland 
biomes. 

(b) Describe the physical properties of soil. 

10 

5 

5 
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